P2, Physics 12


Worksheet-15


Student Name _________________

1. A 1000-kg car is moving at 40.0 km/hr when the driver slams on the brakes and skids to a stop (with locked brakes) over a distance of 20.0 meters. How far will the car skid with locked brakes if it is traveling at 120. km/hr?
	a. 20.0 m
	b. 60.0 m
	c. 90.0 m
	d. 120. m
	e. 180. m


2. During a construction project, a 2500 N object is lifted high above the ground. It is released and falls 10.0 meters and drives a post 0.100 m into the ground. The average impact force on the object is ____ Newtons.
	a. 2500 
	b. 25000 
	c. 250,000 
	d. 2,500,000 


3. A 10-Newton object moves to the left at 1 m/s. Its kinetic energy is approximately ____ Joules.
	a. 0.5 
	b. 1 
	c. 10
	d. more than 10 
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4. Luke Autbeloe stands on the edge of a roof throws a ball downward. It strikes the ground with 100 J of kinetic energy. Luke now throws another identical ball upward with the same initial speed, and this too falls to the ground. Neglecting air resistance, the second ball hits the ground with a kinetic energy of ____ J.
	a. less than 100 
	b. 100 
	c. 200 
	d. more than 200 
	e. none of these


5. An object at rest may have __________.
	a. speed
	b. velocity
	c. acceleration
	d. energy
	e. all of these


6. A 50-kg platform diver hits the water below with a kinetic energy of 5000 Joules. The height (relative to the water) from which the diver dove was approximately ____ meters.
	a. 5
	b. 10
	c. 50
	d. 100


4. Luke Autbeloe stands on the edge of a roof throws a ball downward. It strikes the ground with 100 J of kinetic energy. Luke now throws another identical ball upward with the same initial speed, and this too falls to the ground. Neglecting air resistance, the second ball hits the ground with a kinetic energy of ____ J.
	a. less than 100 
	b. 100 
	c. 200 
	d. more than 200 
	e. none of these


5. An object at rest may have __________.
	a. speed
	b. velocity
	c. acceleration
	d. energy
	e. all of these


6. A 50-kg platform diver hits the water below with a kinetic energy of 5000 Joules. The height (relative to the water) from which the diver dove was approximately ____ meters.
	a. 5
	b. 10
	c. 50
	d. 100


